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[1 Analysis of an Issue (perspective LI [1) O 0O [ evidence
reasoning, objective L [0 J O O O [0 Take a position and
supported O O 0 O O OO OO O Analysis of an argument =>
critique your argument J U [0 O O 0O 0O O l.articulately express
your idea clearly and complicatedly 2.examine claims and company
evidence 3.support idea with relevant examples 4.sustain a well focus
coherent discussions 5.control the element of standard of English [
0002490 0O 0O 0O 1-30 argument 4-601 Issue [ [ analytical
thinking, D J OO 400005000000 [Argument] ----0]
OO0 10000002 00000000 module3. 0000
[ 0O 0O 0O O chance favors only the prepared minds) 4. 0 00 O O
OO0O00500argument0 0 ----O000 OO0OO0O O
Oclaim O O O 0O O therefore,so,thus,consequentlyd [ [ support
---- evidence: examples,facts,statistics,authorities ----- reasons:
assumptions, values,beliefs ----[1 [J [0 [ critique logic survey
----guantity , quality(random) O OJ 1.0J O group U OO O [ sub
group 2.pecentage of each sub 3.0select sample [J [ procedure [

O Osample 0 O OO O OO how large was the sample ? Are the
statistics complete ? Different: Do the statistics make a difference ? [
OO0000 00000 1. the assumption that [ is open to
doubt/ unreliable /unfounded / groundless / unwarranted 2. the
arguer commits a fallacy of (1 3. the arguer fails to establish a causal



relationship between A and B 4. the result of the survey lacks
credibility and therefore does not lend strong support to the arguer
' sassumption. 5. the arguer fails to convince us that [ contribute
to/lead to / resultin J 6. the comparison between Aand B is
incomplete 7. it is possible / likely that 1 100Test 0 0 O 0O 0O O O
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